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ECONOMICS
( General )

Paper : 5.2

( Introduction to Growth and
Development Economics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
ot PR weTe AT TaT e -

(a) Mention any one disadvantage of per
capita income as an indicator of
economic development.

stfes tmR Frte Rot el R
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(b)

(c)

(d)

(e)

(2)

Gross domestic product is a perfect tool
of measuring economic development.

(State True or False)

P O B (R ST BEee (RN
TS S |

(51 @ =Ty fardT)

Name the first economist to propound
the theory of balanced growth.

e WY ey e eEee
GRISRT By |

Give the meaning of capitalist surplus.

Rt Tge wdf forar |

According to Prof. Hirchman, the best
strategy of development is the creation
of in the economy.

(balance/imbalance)

(Fill in the blank by choosing
the correct one)

R AR e, udfitwe _ R
A R SR o G|
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(e Teathr 1R Shmiz

R 51 o F90)

L e ttanasmrd )

@

(h)

i)

0)

A7/330

(3)

Backwash effects have unfavourable
effects on economic expansion.
(State True or False)

AT TEPIRTS *POMEFEH RTR 2o’
o 3

(3781 A e fera)

intensive technique is used for
large-scale industries.
(Fill in the blank)

R®OER SooeR 3@ fRe @rE
IR
(FR 3R *RT F0)

Mention one limitation of large-scale
industries in a country like India.
SR WA (Pl G¥Te JTER S 9ol
e TE 90|

Small-scale industries require less
machineries and more workers.
(State True or False)

TR SO AE I IS AR =R
e AT = |
(3@ 1 =TS fore)

Write the meaning of capital intensive
technique.
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2. Answer the following :

(4)

were AR Teq forg -

(@)

(b)

()

(@)

(e)
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State any two non-economic factors
that influence economic growth.

gAfer HEe demfie a0 R @ ol
SRI-S{ASE IR SrEe 9 |

Give the meaning of market-

imperfection in the context of
development.
SR (o158 ITWR-proefer 4Rt forsi |

Mention any two causes of economic
underdevelopment of the countries.

(PRI WA wmerem R e 751 TR
@

What are the two sectors of the Lewis
model of unlimited supply of labour?

A 2t ST Qo WG o 49
w01 & R 9

State two basic contributions of
agriculture towards the economic
- development of developing countries.

WA (PR SR Tmre e’ R
G 701 ST Sea 4 1

( Continued )

2x5=10

|
|

3. Answer any four of the following :

(5)

o e, R e siibR e fora

(a)

()

()

(@)

(e)
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Write a brief note on the availability
of natural resources as a source of
economic growth.

AT SRR BT B agfe ST

f&fe Reca b1 v o foran 1
“Growth is quantitative and
development is qualitative.” Briefly

explain the statement.

‘iR cRmase R TR wdee 1 SYEE
BT I 4|

State the limitations of per capita
income as a measure of economic
development.

AT T o W Rert s
R SREerTE S w4 |
Elaborate the concept of dual economy.

CTo-ARS R T ¥ |

Write a note on choice of technique.

TR (PR Raew o1 G ot 1

Argue the case for small-scale industry
in the context of developing economy.
ST (PTS FEAN SrM w3k
CTY4SAT | \
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4. Answer any four of the following : 10x4
ors AT R e wiRtr Tew for
(a) Explain the concept of ‘vicious circle

(b)

(c)

@
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(6)

of poverty’ as a factor influencing
economic development of developing
countries.

T (PR WART Cme oeMIe
TN I Row TRESR AEST GR
T

What is Human Development Index?
Explain its acceptability over othef
indicators of economic development.

TR SR P 2 Sl sm RoET

ot AR IR e R e
TR |

Explain the concept of balanced growth
along with limitations.

el SRR e TR 4Recs I
o

Critically discuss the role of ‘backwast
effects’ and ‘spread effect’ for rising
inequalities as shown in Myrdal’s
theory.
fierR @ (gen Wy wwer 3@°
“PORLBT AR WF Speepye R
SR FACACATIFSRI I 3937 1
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(7)

Give a critical appraisal of Hirchman’s
doctrine of unbalanced growth.

TR eriEfere Bmm SgR Bl TN
R s |

Is labour-intensive technique more
suitable in developing countries? Give
reasons for your answer.

SR (PR TR w-RARE e ofte
RIAT AER? O TER WieE e
s |

Explain the merits and demerits of
large-scale industries in the context of
developing economy.

SR PR CIPIebe RETTAR SR ¢S
F QIR I T |

Assess the role of agriculture in
economic development with special
reference to India.

SR W Rew o siwm s
e $RI SR et w1
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